; g i 2 KUET, CUET, RUET & 8 TS

RUET Admission Test 2010-2011

0. (a) I xe™ =y+sin®x =, 47 x =0 97 &y dy/dx 93w fzm s

d d
T xe™ =y +sin® x = — (xe®) = — (v + sin? X
y dx( ) i (y )

:>xe"’"~d—(xy)+e""3”=E}—”—+25inx.cnsx:> xe™Y x(—ji+y +e”=d—y+5in2x
dx dx dx dx

Xx=0 T4, 0(0+y)+e“’3’ =%+sin0 %zl [Ans.]
(b) e* +e¥ =Y =71 dy/dx a7 5 =1

T e* +ef =Y = -dix(e“ +e7) = Ei—(ex”) = ¢” +e”'.ﬂ=e"+”[l+ dy}

d}' Y X4y X+y X d}’ e —¢”
= — (e’ —¢ =g —-e" .. = Ans.
( ) dx e’ —e*" : ]
1 x+3
02. (a) Wﬁtﬁwgfjm[H—)
X
1 X+3 1 A ] 3
R (8 =N (1 P ) O
X X X
(b) wﬁ‘f‘ﬂﬁﬁﬂﬂﬂx_lna_l_x)
1+x—e*
x_x+xz_x3+x4_
e B X —In(1+x) s 2 -Z ‘g y [By expanding]
|+ x—e” X X° X x
+x-1-—-—-— .
o2t 31 4
x> x* x* 1 x, x*_
lim 2 3 4 im 2 3 4
=—]1 [Ans
x—30) XE XS Kq x—0 —l_x—.—xl_ [ ]
20 3t 4 T 2 3 4
x% +1
03. CﬂT@T‘wWﬁ‘fﬂWE(H)IEx - dx
(x+1)
2 2 , ‘
" _ _
WWZIExI ljdx=jexx 1+22dx=-[ex<x 1+ 22=~dx
(x +1)° (x+1) (x+D (x+1)7

=Jﬂx{i;:+;[x_l}}dx =|[e* () + P (x)dx =e*f(x) +¢] =e* ED 4 ¢ [Ans) |

X +1

R | | ST




04.*

05.

06.

(b) j sin® x dx
AATYE: Isins X

dx =I(sin2 x)? sinx dx =J'(l—1n::::ns.2 x)* sinx dx
=J'(1—zz)2(—~dz) [cosx =z T, dz =—sinx dx]
z*) dz =I(-—1+222—z4)‘dz =—z+%z3—%zﬁ+c

=—J'(1—2z2+
2

]

=-—msx+§cns3 x-—--s-coss X+c [Ans.]

(a) & ¥ @@,

(A-B)-C=A—(BUC), @ A,B s C f&f5 &5 |

T L.S=(A-B)-C

= (A-B) N’
= AN(B'NC’)

(law of difference)
(law of difference)

= A N (BUC) ' (De Morgan’s low)
= A — (BUC) (law of difference) = R.S (Proved)

]

(b) Ty ¥4 ¢ >5
|3x +1] .
4
HAATYI: 1 235 HT,]SX-!-llEl 4, —l£3x+l£lm, —é£3x£—i 4, --2—£x£——
13x +1] 5 5 5 5 5 5 15
1 2 4 1
wEE, 3x+1+0 x;t—g -, feeefa e, _Eﬂxg_ﬁ UEH x#—-j [Ans.]

T8 @, E=8f+j—6fc UL _B'=4f—2j+5f£ (S3F 720 AT &Y |
re: ALB = (81 +]—6k).(41—2j+5k) =8x4+1x(=2)+(-6)x5 =0
.. A @R B (o33 *@=@ @@ (Showed)

(a) AT =9 ¢

g LLHS =

a+X b+Xx c+Xx
a+y b+y c+y|=(@-b)(b-c)(c—a)(x—-Yy)
o2 b2 c2

a+X b+x c+Xx a-b b—c c+Xx

a+y b+y c+y a—b b-c c+y|[c, =¢;—¢c,, ¢y =Cy —C4]
32 bE CE aE _bz b2 _CZ CE

] 1 cC+X 0 1 C+X

=(a—-b)(b—-c)| 1 1 c+y| =(a-b)(b—c)| O 1 c+yl[c, =¢c,—¢,]

=(a-b)(b-c)(a—c)|0 1 c+y

a+b b+c ¢’ a—c b+c ¢

0 1 c+X

2

1l b+c ¢

=(a=b) (b—c) (a—c) (y—x) =(a—b) (b—c) (c—a) (x—y) [Proved]
(b) ax® +bx +c =0 97 93 T F#AMT n @ T e @, nb? = ac (1+n)*

FAATY: 44, T o 932 na .'.t:ir.-i-n-:n:=—E :>(n+1)n_=_E L= —- b
a a (n+1)a
2
§RE oo =2 > ¢ = 2= xa?@+1)? - nb>=ac(l+n)’ [Showed]
a (n+1)*a* a a |

DA ¢ L




3B a6 engamess ; @ ' 2;‘5 ) - KUET, CUET, RUET & 3 ST

07. ENGINEERING *=fG 27 effeqry 4ﬁmwﬁwmwwm_w qITq?
AT 2 FOTTF SATAYR =zt 3
ENGINEERING *=&fots E—3:N-3; G-2;1-2;:R-1

JRZ AR Rt et
|
3% aw2, a=f fog ‘zc,x4clx%=32
|
20 938, 26 93 4C2x2;4'21 =136
!
20 sy, 25 fog 4C1x4C2x%=288

S GO ©A R =32+36+288+120 =476 [Ans.]
08.* (a) W= ffroar
1+22 2 1+23
T (log. 3)° + 3
1+ 22
2!

(I+2)log, 3+

(log.3)* +.......

1+2°

T (1+2) log, 3+ (log, 3)* +

L 3
= {log.: 3 +% (log, 3)* + %(IDE;E 3 e . } + {2 log, 3+ (2 Iﬂi"-‘ 3) + 2 lﬂiﬂ 5) S }

_x % xz x3 ] - -
& =l St e | =€ 1+ 2 1) 23132121 =10 [Ans]

(b) A+B=n/4 zzm mre @, (1+tan A) (I1+tanB)=2
STAYA: IF = (1+ tan A) (1 + tan B)

T
tan ——tan A

=(l+tan A) {l+tan(E-AJ} =(l+tan A) {1+ 4 !
: 1+tan§.tanA

A).(1+tanA-ih1—-’ﬁ:uuf'ak) =2 =wmr%  (Showed)
(I1+tan A)

09. 6 % swtw WG T/ 20 ﬁs%aﬁwmwﬂﬁﬁﬁﬁwwwmuw%ﬁa

SfY SF ANEA F TS 9 e T o e g firee wifes <irer cast z0e 161 vz =gy wig |
F @3 I 9 o1 o fefy o | 0

TargE: OB=20m, AB=16m,

* OA=v20"-16* =12m 2| Ny

I F 6kg—w

B AB OA
T F 6kg—wt

—
- —

. T=10ke—wt, F=8 ke—wt [Ans. 20
20 16 12 kg—wt, kg—wt [Ans.]

|ECCI ) s S —

= (1+ tan
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10. GoR S3R @3 @TF 4 R Srerm @ cnarferend 100 fitR erw 3t Tl afewy FaUs «ta <8
@ e of g et 5 i e 1 @res @ fefa s
ANYE: SIe7 @ u, At @V v 9R &/ Q@ w A,

w=1%0=20ﬁ‘rﬁﬁ%

v
v:%=25ﬁr.ﬁﬁﬁf ‘\ﬂ

Jou= \/252 —20° =15 f&7./ff5 [Ans.]

11. @F 3@ @R 100m IPId IR AR F© @0 TS T, IS @ To OEFd Y 307 A0 AMF?

2 2

st tan @ = — = tan 30° = — 0=30°
rg 100x9.8 —100m

— v=+tan30°x100x9.8 =23.7866ms™ [Ans] | &=9.8ms™
12. @ fimee B @ @3 wdE eren [ e @E ot g | andat oft e Fam 1S e
343 m @p Sreww od | imrba Swef o2 |

AN Ao t Ze, 34.3=0+%g(2t—1) :>34.3x£=2t—1 S t=4s

.'.H:O-l-lgtz =%x9.8x43 =784m [Ans.]

2
13. 27°C SMHu@T W Wi A suer 2R epfifie T faed Sed are 3 | gUIe Sl 97 (eHl Wity
v=1.40 |
e T,V =TV, V, =V
= 300x V1 =T, x2Vv)! 4 V, =2V
~. T,=22736K [Ans.] T, =27°C =300K . T,=?
14. 60cm WY @3t o7 &fS et 120 I F1eet | 3 93 05 40cm T4 T AR TE 4 & Ifa T4 =W, SR
SR FF {9
T f) = L,=60cm; L, =40cm
2Ly u
{T
f1= 1 : TI=TiT2=4T
2L, V u
S L F f, =120Hz .. f, =7
fi L, VT -
0
= f, = 120x 22« Jﬂ =360Hz [Ans.]
40 T

BT | 8
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15. 100m R oo (e Skg o7 TEeIR SowEa SR “iore <, 4sec I SR ifo*E @ BfoxE oo 3=r
TG v=u+gt =9.8x4=392ms" u=0ms™
_ _ 1 2 ] 2 t=4s
.. sifexife = mv =—x3x39.2° =3841.6] [Ans.] m = Ske
h=-ut+%gt2 =iIH-l::-c:!J'.S::-r.:-ﬁl2 =784m .. 9 AtF Twel, h'=(100—-78.4)=21.6m
-, Bfe"E = mgH -—%mvz [*ifes SermeriteTet]
=(5x9.8x100-3841.6)] =1058.4J [Ans.]
16. IW @F I 9T Gae @GEET T 1m W, O @ @EE (1R B &S W e 20 I et e, o oy
(9 9 |
2 2
‘-‘r'ilT*fF{:TI:ZTr’h :',>g='4ﬂ2L1 —47:;1:7:2 T, =2s
g T, 2 60
3 = T5 =Es = 3s
Tz =27 =2 :b'z—ég=L2
g 4
2 2
L= 2 [Ans)
4r° 4
17. 93 TIER SRR -Tes @F =ie 0.1mm <% S &9 F90e 1,25 amp SRR 2412 Taid $S S A1
(ST SR, ST ACST BT Scm, ¥y 8.9 gm/ cc a3 wrara aFmifa@ gan 0.00033 gm / Coul |
g W =Vp
= Adp r=—§—=2.5cm
_ 2 -1 _
=nx2.5"x0.1x107 x8.9 =1.7475gm d=01mm =0.1x10" cm
W="ZIt p=89gm/cc
e =2 453644 [Ans] £=0.00033 gm/c
Z1  0.00033x1.25 1=1.25 amp
18.

436 apfes afsq @y 600 ohm | @t 220 volt FRTIZ AR A T F41 2 | A 2 Zefsa 3o

0.80 B =, S1xte IS 18 51 I9%® (e o 46 W7

VZ 2202
AYgE: P=— = =80.667W
R 600
N=_tt nit = 80:667x18 1.452 unit
1000 1000

- @5 =1.452x0.8=1.1616 5= [Ans.]

V=220V
R =600 Q
t= 18 hour

19. 3o @F 20cm 99 AfF LA I§ ™8 (10 AT | IR G SIS @0 HNe! 1% 99 |

ECC 7

v=-=20cm =-0.2m
U=o00
f=79



s o S

20. @ FAITS OB CIFR @ @S WGP 8 2AfSTee T 18 ¥ 6km/ hour | (w1t T @ 1N e
I FACE G SR AT (RIE?

sy v+u=18 v—u=6 ..v=12kmh™, u=6kmh™’

u v R

ucos0°+vcosaa=Rcos90° = u+vcosa=0 = cosa=—— ‘\JQ%D
vV (8 4

}_

S 0L=COoS (—£)=120° 5. 12kmh™ @1 120° @ [Ans.] .

12
A (Written)

21. f=afife crefam o f simefass e foe |

O
v
(a) =RIBHE T HO—@—P;I—C\
H CH;
(b) «rarfe ste: CH, = CH — CHO
CH
7 3
(c) frrsa witag YL NaOﬁ—@—N = NN"‘CH
3
0

C
(d) TRSEITHN AAYI: O

HH OHH H

(e) 2 AN —3 — e AqTYI: H—C—(LJ—E:]C—C—H

|
H H H

22. #fw sRdre FEafte chiesfem w=gm e

(a) As bHg  (©O0s  (dXe (¢ Pb
FaigE: (a) As 3 594 #1fm, &t VA (b) Hg ¢ ¥ 7w, & [IB
(c) Os s 9® =4, = VIII (R0 =) (d) Xe 8 2ex =, 27 o

(e) Pb ¢ 3% *ifm, ¥ IVA .
23. farma fRf@mfts H—H, O=0 @33 O—H 99 957 *if& @ do08, 35 8 33 Frenane/cra, R[ferar wrer
Rfr s

|
Hag+3 Oy = Hy0(g,

]
T R ot = AH g + - AH g-) ~2AH g _py

=104+%x118—~2>¢111 =—59 e/ e

TR | RTINS
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24, (a) FzERe dbrezg aemfe e e

1) <G TagE: Na,CO4.H,0

i) Ry /e T4A: Na,B,0- .10H,0 (Fifear «1Rmmsmes earizEs)
111) FHEE5 sargE: KC1.MgCl, .6H,0

1V) TTETNI35 e CaCO4.MgCO,

V) SIS st Mg, Ca(Sio, ),

(b) e “itx fFeIT S3F @A FoNsT o4t q1a?
CH; COOH COONa

A @ +[0]—2M >© HecH @ L >@ +Na,CO,
H,S50, Ca0O

GRA R
25. TRuew Rfermetar sy o=

_ ; CHO
(i) C4H,OH +CHCI, +3KOH —*2€ AT @’ +3KCl +2H,0

OH OH '
(ii) 2 @ +2HO-SO,H—2"C TR @/SO3H+H0—@— SO,H +2H,0
OH H
(111) @ +CHCIl, +3NaOH —&€ AAYI: @’CHO +3NaCl + 2H,0
| CH, CH,
(1v) (]: gl o AAYI: |
CH, - CH -~ OH +[0] &0 CH,-C=0+H,0
(v) RNH, + HNO, —» FogE: R—-OH + N, + H,0

26. (a) 700K wrmm@m s 20 atm w7 N,(g)+3H, (g) = 2NH;(g) fifemioa s 21% N, @
16% NH, @1tz | fafemnfoa K, ¢ K. ffrsa
T Ny =21%, NH; =16%, Hy =100—(16+21) = 63%
63 16

_m—}-xzo—lz .6atm, PNH3 =ﬁx20 3.2atm (a1 S 51of = Garer Satest x CNiG 51e)]
21

100

" Py

2

P 2°
s K= (P, - = 3 -=1.2x10"atm™ [Ans.]
- Py x(Py,)” 4.2x12.6
Kp =Kc(RT)™
K 12x1073 __
LKe=—2_— = 1.2x10 ["An=2-1-3=-2]=3.9634 *mol™

(RT)*™  (0.0821x 700) >

TR, | o (0




Sffcamis g g ; {g} 1 B  KUET, CUET, RUET 25 8 YT

27,

28.

29.

’ S} e f 1 ST

(b) 0.0IM NH,OH (K, =1.8x107) &3t@ pH =1 <4 |
sarg: NH,OH =~ NH," +OH"

c(l-a) oc ocC
2 | -5
Ky = X% ~ake [~1>>a] o= B ___\/1.8:{1[} =4.2426x107*
- C 0.01

Fear [OH ]=ac=4.2426x1072x0.01 =4.2426x10™' M
st o, [HY][OH ™ ]=1x10""*

1x107"
4.2426x107°
pH =—log[H"] =-log(2.357x107") =10.6276 [Ans]
(a) =t o citersr {eeraw =01 o« Sb, Se, Br, Sc, Po

st Sb(51) = Kr4d'%5s%5p°

Se(34) = Ar3d'°4s*4p’

Br(35) = Ar3d'%4s%4p’

Sc(21)= Ar 3d'4s?

Po(84) = Xe 4f'*5d'°6s*6p”

(b) et v 8 (A R, AT e, B Rk, @nee e, @R a3 |

TR G ReEE ¢ TR ~BiEe wairefe et (KHgl,) 99 539 (e s 30 | «ft

SFCfAaT @ STCEETEE FAEFaeT IIFS 2 |
7k Rae ¢ +iiv HCl «fite Aies 97 & @RI3Ied GI9e garT [ 30T |
b Ratae ¢ swemed 10% AgNO, @32 10% NaOH &3 fifffe @t wwsrsst g a1 Wiehe

W4OH—ﬂ@%|mWﬁ@EWWQﬁHWWWW| aTe

[Ag(NH;3),]" ST T |

Qs e 3 *rEfea 36 BaSO, 93 Teifgfers wpea @@iRe, H, @@ fafgests Refke
WIEATSRRG Toely 0 | U3 [EReiE @ e I |

R 53+ ¢ F#ia EeEs € NaOH fifire enfean <SR SrRBIEs 3t @bl R sTewes qaid e
(Ffere G I |

a1, [H']= ~[H']=2357x107" M

e RfGFmetEt Ty 3|

(i) Ca(OH), +Cl, —2*< s Ca(OCI)Cl+H,0

(i1) Mg,N, +6H,0— srgE:  3Mg(OH), +2NH;
(ii) Na,CO,+Si10, — Tty Na,SiO5 +CO,

(iv) 2NaOH +Cl, —2<— sigi:  NaCl + NaClO + H,0

(a) Iamiferra fe? IamifEmTeT aorrenele SE 39 |

HATH: mﬁ’m@%m%ﬁ—mmmmﬂﬁmm|mﬁ%ﬂmmﬁmﬁm
(3) AEFTIFRIZT 3 316, CFRECETe d49fS

() AT 8 o -SHrNRCAT SHIfFes wAfema

(o) fFEfes afite ¢ DNA, RNA
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30.

31.

*(b) DNA 2 DNA @7 %1% fr?

T DNA 75 tafaasm@eEs ofts |
DNA a7 ¥7%-

(5) ILMST 4T seawe

(R) oerifes caf*ey Maae

(©) (RICEF (FFITICEIT S5

(a) T ¢ SR wsfasaf [ oy

AL TN WS 8 SN WFHF 3

(3) SUPITABIRG ¢ Fe,O, (3) F9= a7 ¢ Cu,S

(}) @ RRAGIZG ¢ Fe, O, () TR “NZARG ¢ Cu,S. Fe,S,
() FTaEIEE ¢ 2Fe,0,.3H,0 (@) TEES ¢ CuCO, .Cu(OH),

(8) ™nearer ¢ FeCO,
(@) SIS #1216 ¢ FeS,
(b) JIIBT T 8 QBIF, SRGF A, AT oRTes, Do |

TAE: @B 8 IS @fiites — OH ol sirerefy (R — O—) o wi eifogifore 20 cr toa QT TBeopy
T SIE O3B1F I |

AT & ¢o7 @ 5 NaOH 3 KOH &< = o Reewe $0er T2y GifearT @ “BiRmT T=e «
farsifeaer Seoig = | Wtz FREES 9

WEWWWWWWQEWWWWWW
ARCTFINS QfHrea Efeam seete fEoEwrs 90 |

O
e ¢ Tofaar 20z TR Gfiten wIRwrEe I SRS | 97 e HZN—L-—NHZ

Afer (Written)

(a) Translate the following sentences into English. \
(i) o T2 = Fam o, o 38 $SIET 1 |

Ans: He will better accept loss, but not cheat anyone.

(1) TFE ATSI ST FACS (SN FIGL2. Sf<1eT a7 2 7 |

Ans: None is actually praised when everyone is praised equally.
(i) = gifS ~amae o= orF +169 g7 2w |

Ans: The corrupted persons are caught in the end.

(b) Translate the following sentences into Bengali.

(1)  The love of mother is never exhausted.

Ans: TF SERET T fFerifEs =z =1 )

(11)  The real heroes are those whom the world knows not of.
Ans: SH1R &3S AT IAT I AYR{ T 41

(111) We should respect our teachers, shouldn’t we?

Ans: FrESTAE SN S0 F41 86 | ©1% w1

EEEE | - | TR
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32. (a) Convert the following sentences as directed.
(i)  Allah can alone assist us. (Make it negative)
Ans: None but Allah can asist us.
(il) How beautiful the garden is! (Make it negative)
Ans: The garden is very beautiful.
(ili) Because of cold, the boy did not go to school. (Make it compound)
Ans: It was cold and the boy did not go to school.
(b) Make sentences with the followins.
(i) A white lie : What he told about his profession was nothing but a white lie.
(ii) Nick of time : The revolution came in the nick of time.
(iii) Look for : Sakib is looking for his life partner.
33. (a) Fill up the blanks with appropriate words.

(i) He will do this he is stepped by you. ~ Ans: because
(11) The committee consists ten members. Ans: of
(111) He 1s loyal his master. Ans: to

(b) Rewrite the following sentences with correct form of verbs.
(i) The quality of the oranges (to be) not good.
Ans: The quality of the oranges 1s not good.
(i) I have resigned and a new man (appoint).
Ans: I have resigned and a new man is appointed.
(ii1) I (to finish) long before you get back.
Ans: I shall finish long before you get back.
34. (a) Change the voice of the following.
(1) What do you know?
Ans: What is known to you?
(ii) The criminals have been punished by him.
Ans: He has punished the criminals.
(ii1) Promise should be kept.
Ans: One should keep one’s promise.
(b) Change the narration of the fullnﬁing :
(i) "Yes, Sir," he replied, "I have done my duty"
Ans: Addressing as sir, he replied affirmatively and said that he had done his duty.
(ii) The man said, "How fine the bird 1s!"
Ans: The man exclaimed in wonder that it was a very fine bird.
(iii) The boys shouted in joy that they had won the game.
Ans: The boys shouted, "Hurrah! We have won the game!"
(c) Correct the following sentences :
(i)  Father asked me to finish up with the girl.
Ans: Father ordered me to finish up with the girl.
(ii) The children gloried with the nice dish.
Ans: The children enjoyed with the nice dish.
(i11) Evil news run fast.
Ans: Ill news comes apace.

-' ERCE T
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35. Read the passage below carefully and answer the questions put forward.
A reason why people at school read books is to please their teacher. The teacher has said that this,
that, or the other is a good book, and that it is a sign of good taste to enjoy it. So a number of boys and
girls anxious to please their teacher get the book and read it. Two or three of them may genuinely like
it for its own sake, and be grateful to the teacher for putting it in their way. But many will not honestly
like it, or will persuade themselves that they like it. And that does a great deal of harm. The people
who can not like the book run the risk of two things happening to them; either they are put of the idea
of the book or they get a guilty conscience about the whole thing; they feel that they do not like what
they ought to like and that therefore, there is somethin g wrong with them.
Questions :-
(a) Why do students read book at school?
Ans: Most students read book to please their teacher and the other read it for 1ts own sake.
(b) How does a teacher induce a student to read book? .
Ans: A teacher induce a student to read a book by saying that it is a good book.
(¢c) Do all students like the books they read on their teacher’s advice?
Ans: No, most students actually do not like books they read on their teacher’s advice.
(d) Why may some of the students be-grateful to the teacher? |
Ans: Some students genuinely like reading books according to their teacher’s advice and thus be
greatful to the teacher.

01 |lim X —9
x_}m(1+x)

(a) —o (b) -1 (c) e’ (d) e (e) 1
O ¥
. (). lim X ) _ lim 1 _ lim 1 _1
WW- (C)s Iﬁm(l‘i"XJ T X—0 1+X — X—pap 1 r n
= R e
x X FZ 3 X /
02. ﬂﬂ“[ ax = : cos™ D+aC0sX q, _[ X A T Z(3I-
a+bcosx /52 _2 a+bcosx  7a+bcosx .
2 -2 ] -1 T
(a) (b) (c) (d) (e)
VaZ-b? Va2 —b? VaZ —b? VaZ —b? Va? —b?
‘ 7 X
T m T SCC —
WW(E), Ir :}( =J dx :.[ 2 xdx
o 8 T DCOSX 0 I—-tanzg 0(a +b)+(a—b)tan25
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03.* A={1,2,5},B={1,3,4},C= {3,, 5, 7} = (AﬁB)u(AﬁC) T @E0?
(@) {1,2,3,5} (b) {1, 3,5} () {1, 5} d {5, 1} (e) {1, 2,5}
swg: (c); ANB={1}, AnC={5} ..(AnB)U(ANC)={], 5}
04. I xsiny+ycosx =7 T, y,(0) 499 I 3-
(a) T (b) — (c) 1 @ 0 (e) None
AYE: (€); x siny + ycosx = T
Whenx=0,y=mn
= e
(0,m) R, y; =0
qFR O y, = T *NGT TR | OIS O ARy, @F T WHE 711 FIee2 7S (e)

05. 2i+Aj+k a3 1—2]+3k o8 73 A oW T A 9 A @IAG? [Ans: c]
(a) 3/2 (b) 2/3 (c) 5/2 d) 2/5 (e) 5/3

s (0); (2 42j+K).G-2543k)=0 = 2-24+3=0 A =%

06. 3@ xPyd =(x+y)P"? wermE dy/dx a9 I+ @HG?
(a) x/y (b) y/x (c) y*/x (d) y/x> (e) xy
srg: (b); xPyd =(x+y)P"? = InxP +Iny? =(p+q) In(x+y)
=plnx+qlny=(p+q) In(x+y) '
_P,9dy_p+g (dej :dy(q_pw}:wq_p

X ydx x+y dx\y x+y) x+y x
_ dy gx+aqy-py-qy _px+qx—px-py _ dy ax-py _ax-py .dy_J¥
dx y(X+Y) X(x+y) dx vy X dx x

1431 @7 gAY @ WS GF Wi To?
(a) 2 & /3 (b) 3 & n/2 (c) 2& /2 (d) 3&n/3 e)l&m

J3

W*ﬂ"f:(ﬂ);r=wflz+3=2;tan9:T - 0=tan" 3=§
08. Y-16=7
(a) V2 (b) (/3 £i) (c)+f(1+1) (d) £+2 (1) (e)%

st (d); /=16 =162 =141 =24/+i ;2\[5.&21) =2J% (1+

=ﬂ_% (1+i) =2 (1% 1)

1 1 1

00.% ]4+—4—F——F.rereeens o0 ="7
YN 246
1 1
(a) 2Je (b) — (c) Je (d) — (e) e
Je e
1 1 1 11 1 1 11 1
FAIY: l+—4+—F——+....oue =]l4+— —F— —F+—.—Frrrren.. =2 =
s I+ St 246 112 2122 3193 e? = e
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1.

12.

13.

14.

15.

16.

Z | 1X,y 9R z 99 79 TI-
2 0f [2 -3] |y -3
@) 1,23 (b) 3, 4, 3 (c) 3,-3, 4 d) -1, 2,3 (e) None
1 0] [2 17 [3 17
e (b); (-1 2(+[0 1 -1 3
|2 0] |2 -3] [4 -3
"PERMUTATIO N" *rifw afefera o e wragi «Hfaa =1 0a w70 7907 SRR 91 Cire =iz

(a) 359 (b) 720 (c) 719 (d) 358 (e) None
TYE: (a);, TETS 6, 2B T - §_1 — 359 Gl |

770 Traers @ 31 et 2ot S *ror o1 w1 MR @ 3 et @ 2 5 vt e

(a) 120 (b) 25200 (c) 4200 (d) None (e) 25000

FTtr: (d); TR AT = "C,y x3C, =105 .-, ** 751 =105% 51=12600

10
(21(2*1} a7 fgfere x° @3k x'° «w Tt g2 w2 p 9T I W @ T

3

X
(a) 1/3 (b) 3 () — (d) V3 (¢) None
V3
WW: (C); TI._H =]ﬂcr(2x2)]ﬂ—r(%)r ___lﬂcr Pl‘.zl[}—r KZH—ZI‘-—3I’ =1Ucr 210——1‘ PI‘ XED—SI
X

20-5r=5 ~r=3 T, ='°C,27P*"

1 1
20-5r=15 ~r=1 ~ T, ="C2°Px"* . 'C;2"P*=C;2°P = P?=- . pP=—
3 V3
y=x>-3x>-9x+5 &R (@ 71 [ re ~pfs X -SUFT AN OITqd Qed 9 Zel-
(@)x=0and 0 (b) x=1and -1 (c) x=1and -3 (d) x=-1and 3 (e)x=—land -1

g (d); %=3x2—6x—9=0 Sox=3, -1

c0s27° —cos63° _ o
cos27° +cos63°

(a) sin18° (b) tan18° (c) coslg° (d) tan15° (e) cotl5°
c0s27°-sin27° 1-tan27°
c0s27°+5sin27° 1+ tan27°
aﬁﬁmm@wm 2 Inch R 4 @ w4F 77 | BT @1 75 ]F rf B/ menT
T R FOT GIA?

(a) 5/3 inch (b) 3/5inch (c) 2/5 inch (d) 5/2 inch (e) 2/3 inch

Wm:(e);s=;%1-=§ inch [n=2wtﬂt€$,n=3wﬁm#]

TigiE: (b);

= tn(45°—27°) = tan 18°




B B85 ST ; @ 2 I KUET, CUET, RUET & 8 4

17. R e O (I (e @ SO o SRS m S @ (2l6 78 P @q o F ARt o @
o T 2 | <o P <@ (e id iET 1ers e 2 | Ofee F 9 Wi 20

(2) mg cos’0  (b) mg sin’®  (c) mg cosO (d) mg tan© (e) mg sinf

mg
Ty (d); = —
@ sin(180°—06) sin(90°+0)
=>*.i= =5 .. F=mgtan0O
sin® cos6

18. 154 3 ass craee RfFE Jaq TP 2x —3y =5 @R 3x —4y =7 A I AN T3-
(a) x*+y* +2x -2y =62 (b) x2+y2+2x—2y.=47
(c) x2+y* —2x+2y =47 (d) x> +y* —2x+2y =62 (e) None
Ty (¢); 2x —3y =35, 3x—4y=7
AW I AE, Joa7 &7 (1, —1)
nrl=154 r=7 . FE@@ASew (x-1)° +(y+1)* =49
LXP 4yt —2x+2y—-47=0
19. OA @32 OB TaR¥ e x°+y> +2gx +2fy+c=0 38 =fe «x C &7 =7 OABC vo9red

CFOPe] 2(q-
@ g+ = (b) Jo(g® + 2 —c)
2 2
(c) \/(gz+f 2 —¢) (d) \/g +: —° (e) None

srgi: (b); 00 OABC = A @ OAC +A ¢&a OBC
(x+g)l +(y+f)Y =g’ +f*—c

AOAC= %.OA.AC

Y

AC = 2+f2—ﬂ
'\/g =T!;"‘/E"Jg:+f‘:_c :%JC(EI'I'P:—C)

OA =JOC? - AC?
=Jgl+fi-g—fl+c =e
20. @b faere™ et TATFE 5, 12 @R 13 cm 0 fagsiv 23-
(a) ZECE (b) =T () T (d) 60° -3 (e) None
sy (c); 132 =122 +5% . fagsfo et |
21. @t GF 22.5 m/sec sifsrt Fw g@r s 10 sec-9 325m (e | 9F 99 FO7

=AOBC . 1 OABC=c(g*+f?-c)

(a) 2 m/sec’ (b) 3 m/sec* (c) 4 m/sec’ (d) 2.5 m/sec’ (e) 1.5 m/sec’

TYE: (a); S=ut+%at2 = 325:22.5><10+%EX102 L a=2ms”

féow SEEEREECEREES  Aemomesoen |
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22. RFWEIT G 9 VAl TN @HAD?
@ IM7'T? () PM7'T? (@ L'M’T? (4 PM2T? () LMPT
Fd> MLT2.1

sary: (b); G = - =I’MIT2
m;m; \% .
23, 25kg e SR (31 W@ 40m Tpre Ao e I8Ha B e 7o z@r
(a) 98.10) (b) 98.10 ergs  (c)9810 egrs (d)98107 (e)9810eV

SYE: (d); Ep, =mgh =25%x9.81x40=9810J

24. @ TR 2.5m A Sty tef w9rs Sid | 7 @ wwmm @ 340 m/ sec T, OUF FERE INE
T ?

(a) 316 Hz (b) 613 Hz (c) 631 Hz (d) 136 Hz (e) 163 Hz
T (d); V=fA =340=fx2.5 .. f=136Hz |
25. e 1C @7 v W4T *[TiF (AF 1 km T340 TRES 206 Qa4 6 TS Z(E?

(a)9x10°Nm°C™ (b) 9x10°N (c) 9x10*N (d) 9x10°N (e) 9x107>°N
1x1 |

srgE: (b); F=9x10° x — =9x10°N
(1x107)
26. TRAZLET HFNYF ST S=F4 *IfE 7 [Ans: a]
(a) =13.6 eV (b) —13.61] (c) —13.6 N (d) —13.6 ergs (e)—13.6 dynes
27. wiagefen gftrese Ava @G Afdw? [Ans: d]
(a) 10"'m—-sec (b) lﬂ_lu—sec (c) 107'n—sec (d) 107" sec (e) 102 sec

28. 40 kg ¢ 60 kg =r=a vt 9@ @ 10 m/sec 8 S m/sec @t 7@ Foidre Fe @@ SF R =G
aTF AT 9T e | A 717 @ 9@ TS T IS (@0 5AE?
(a) 2 m/sec (b) I.5m/sec  (c) 1.0m/sec (d) 2.5 m/sec (e) None

400-300 _

TrgE: (¢); 40x10+60x (=5) = (40+60)xV .. V = - Ims™
29. T S TN YS! (FIF T TS 2o IS TN &) ZA? [ Ans: b]
(a) 0 (b) 90° (c) 180° (d) 360° (e) 60°
30. 20 m/sec QT AT @36 G (@ A4S CTLFTE 3 m/ sec JTERLT 1T | (AT ST W GAS v g
STy FAI? ’
(a) 67.67 m (b) 66.67 m (c) None (d) 67.66 m (e) 76.67 m
saE: (b); vV =u’+2as = 02 =20>+2x(=3)xs ..s=66.67m
31. AR M CIEt ST CFE (GIRICHT TN 5 @52 [ Ans: a]
4
@ B=to  (pp=lel g pl g Ll g R
2ma 4ma ma ma na
32. «3f5 agfes REm 220 volt F<aZ A3 (UF 2 amps &_I1Z &7 307 | B 400 TOT (IR T F©
kWh =77 zza2
(a) 276 kWh (b) 176 kWh (c) 17600 Wh  (d) None (e) 376 kWh
stter: (b): P = VIt _ 220x2x400=176kwh
1000 1000

s

ECI, | 7§
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33.

34.

35.

36.

37.

38.%

39.

40.

41.

42,

ECI, | 5 ()

3B S wofrera aerera GPIE 48 cm | 7T e 24 cm A 9 38 A = | fefirvn sy e e
(a) None (b) 0 (c) 36 cm (d) 18 cm ()
2 1 1 2 1 1 ]

AqYE: (€); —=—+— = =—+4 — —=0 . v=om
() r v u 48 v 24 \%

935 2T 1m 819 | Afa efswars 4/3 @, T WA Toel T2
(a) 0.517 m (b) 0.751m (c) 0.671m (d) 0.715m (e) None

FAIqE: (b); M:E .'.v=£=l=0.'}’5m
v po4
3
GG TS @Y FX @I 3 ohm @Y ANSAE I 1 AT | TOA19 9o (@14 F© (A7 [ Ans: b]
(a) 3 ohm 93 &t (b) 3 ohm 9T %
(c) 3 ohm 43 7= (d) S&IT G AN (€) BT 7
IR ST WMol I e - [ Ans: a]

(a)orerefit =@ (b) AR (c) 9F8 U (d) FAEBEFE (&) THI
GY GIEH EF 3 m TS AT | TGS F© THIS AFICS ARI?
(a) 3m (b) 6 m (c) 9 m (d) 18 m (¢) None
TAY: (d); g' = £ I |
GG FETEAIEd AT FSAIT A FRA <7 faed a1 Za oofiet Foare e #{de-
(a) wﬂﬁﬁ@ AR (b) faew T (c) oTdT T@ (d) v T3 (€) T2 7
Np . . _Ng
T (C); —5 A --ES_“I:I;'XEP
{1 A7 w41 e f[eq “1dey wede =209 |

(a) R o (b) 8 & (c) Sed< (d) GITARFE (&) TR 7
ste: (a); £ =~ =YV f = 2f[u=y]
Vv Vv
Fhgw S1ifEe a3l Ees ECEa 7S] ACPIETS SRFS EEd o 10% @ T, (@I I8 AR
(AT PG T8 T ©IF GTF T JJ? [Ans: a]
(a) S0% AT (b) 50% T (c)s R e (d) so* =W (e) S0’ TR
L, L, L, +10%xL, 11
sy T =21 [— =21 [—= ——=> g1—~—><g1 Xg1=—g =g+ 10
g1 g2 81 £r L, L, 10
100°C @ 8 1.0526 atm st CO, qp i <9 |

(a) 3.523g/L  (b) 4.632g/L  (c) 9.624 g/L (d) 1.512¢g/L () 2.568 g/L
~PM _ 1.0526x44

sarye: (d =1.512g/L

(@: 4= 2T = 0.0821x373 ¥

QI @3 ARG Fo: [ Ans: d]
(a) 2s°2p° (b) 3s°3p° (c) 3d?4s? (d) 3d"%4s%4p”  (e) 4d'%5s'
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43. 7Y H,S0, 4 9% {341 (12 OF GIgs ITH 7 Al¢ FRBE Forre wifie 0 0.03 M KMnO,
TR 27.5 cm’ @0 | IR SR o v
(a) 3.5 gm (b) 6.2 gm (c) 44 gm (d) 8.3 gm (e) 0.231 gm
T14E: (€); 1 mol KMnO, =5 mol FESO4 =5 mol Fe
+.1000cm’ IM KMnO, 539 = 5x55.85 gFe
3%55.85%x27.5%0.03

275 cm’ 0.03M KMnO, gad = T =023 g
44, 3T STATE (FI9 G5 R[Arae? | [ Ans: b]
(a) Amyl Acctate (b) Ethyl Butanoate |
(c)Pentyl Ethanoate (d) Ethylacetate (e) None |
45. wE3IRa pH 97 77 Fo? [ Ans: d]
(a) 5.6 (b) 7.0 (c) 6.2 (d) 4.0 (¢) None .
46. = SRCSIANT F7390? [ Ans: €]
(a) CcH, —N" =N—-HCI (b) C¢Hy—N"=CI-NO
(c) C¢Hg —N* =N-NO," (d) C;Hy—N*=N-SO,” (€) None
g (e); C.H, —N"=N-Cl
47. ~AFeRRE 7 eEfen @M e qret [ Ans: a]
CH=CH, -CH-CHp—
(a)n Wm. n
e ]
CH,-CHj; CH=CH,
(b) by +H,
650°C
(c) None :
CH,-CH;
(d) @ +CH, =CH, —2%
CH,-CHj
(e) @ +CH, =CH, — A%
48. @H @R 592 [ Ans: c]
(a) MHgSO, (b) NaHs (c) KHgl, (d) HgK,SO, (e) None
49. {57 @ &g I IRE V ngfear ‘[Ans: c]
(a) BeCl, (b) NH ; (c) H,0 (d) pcls (e) None
r: 26 lone paire electrion Rwm | aom s el swéifis 1 H,0 @7 e Rige =z 'V

4|

e |
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50. = @RS =- [ Ans: a]
(a) conc.HCI1 + Anhydrous ZnCl,  (b) dil . HCl + ZnCl,
(¢) conc . HNO3 + ZnCl; (d) conc . H,SO4 + Anhydrous ZnCl;
(e) None of the above |

51. TR @RHre SIKRIRWE 7127 [ Ans: c]
(a) Wheat flour (b) Cellulose (c) Wax (d) Starch (e) None

57 @3 eE o ey T 0.001 sec 7@ 0.001 mA SfeR 5T Fate Tt ARG 21T *01?
(a) 6.24x10°  (b) 3.52x10°  (c) 2.56x10'°  (d) 4.6x10’ (e) 9.5x10

TigE: (a); Q =1t =0.001x10>%0.001=10°C ..n= Q = 10 9_19 = 6.25%10°
e 1.6x10

53. ©I6 GO 2 [Ans: €]
(a) T @ FIEAT *IFq (b) w1 @ TFTeTa 1 |
(c) ST @ forerer “ieq (d) vt @ forereTa *iea
(e) W=l 8 S e

54, SHHF OF IAE FALF© - [ Ans: €]
(a) C(H,, (b) C,H, (c) C,oH», (d) C3H, (e) CiH,q

55. I8 SR ENR AT 97 | [ Ans: b]

(a) 80—100%  (b) 92—95% (c) 70—-80% (d) 50—60% (e) 75-100%
56. 25°C @ Fe/Fe® (0.3M) || Sn*(0.1M)/Sn @7 sfes=a 7= (em.f) @io?

(a) 0.525 wlt  (b) 0.1285wlt (c) 0.2859 wolt  (d) 0.2755 wolt (e) None

RT [Fe*]
nF  [Sn*]

TgE: (¢); EX, =E., —

cell

| B =0.44v; E° =—0.14v

Fe/Fe** sn<* /sn

2+
_p° ., 4E°, . DL lre ] —044-0.14-3316%298, 0.3 _ 4 2859v0lt
Felke T AR [en] 2x96500 0.1

57. N.T.P. 1 s TRGIET TFF SRS F©?
(2) 13.719x107*dm’ (b) 3.879x107*dm’

(c) 3.719x107*dm’ (d) 3.979x107*dm’ (e) None
22.4

6.023x10%
58 27°C wtomm@ e 780 mm Tt 300 cc T €& 0.5 ST JA W TSl 8 BT & T G T67
(a) 119.77 gm/litre (b) 19.77 gm/litre
(c)19.99gm/litre (d)19.66 gm/litre (e) None
SreE: (€); PV = %RT C M= WRT 0.5x0.0821x300

PV 780 300x107

760

dm> =3.719x10"*dm" .

FTYE: (C);

=39.997

q- PM  1x39.997
RT 0.0821x273

~1.78454g/L
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59. Wmﬁﬁﬁmmawmmm SI%WWWWF
(a) K,S0,.Al(SO,),. 24H,0 (b) Na,S0,.Al,(SO,),. 16H,0
(c) K,S0,.AlL,(S0O,),. 20H,0 (d) K,S0,.Al(SO,),. 16H,0 (¢) None

FAYE: (€); &MG ALFOMAR (AT (AN IW (@, (FF (F@AR EAAI ot 7w 40.51% =7 |
60. 63 @FT (oe? [ Ans: €]

NH,
(a) @ (b) @ (c) J@ E;/ (e) None

61. Choose the correct answer for translation of the following sentence into English.

T Fo-fo wfmme o ar [Ans : ]

(a) The flower was not blooming

(b) The flower was about to bloom
(c) The flower was about to bloom but did not bloom
(d) The flower was near to bloom but had not bloom

(e) The flower was to bloom but not .
62. Select the correct answer for translation of the following sentence into Bengali.[Ans: b]
No more, we have enough of it.

(a) =1 SCT<F TR (b) =< 91, WHF AR
(c) I, ST SHS R (d) TENEEE T, SWET WAS (AR
(e) =, ST 3ZITS 2pF (AR
63. Choose the right answer for conversion of the following sentence as directed. [Ans : b]

He 1s very dull and can not understand his lesson. (Make it simple)
(a) He is very dull and he can not understand his lesson

(b) He is too dull to understand his lesson

(¢) He is too dull that he can not understand his lesson

(d) He is so dull that he does not understand his lesson

(e) He is being dull that he can not understand his lesson

64. Choose the appropriate word to fill in the blank. [Ans : d]
My father is confined it.
(a) for (b) on (c) with (d) to (e) by

65. Select the correct sentence with the following : |Ans : a]

Consists in-

(a) Happiness consists in contentment
(b) Happiness consisted in him

(c) Happiness consists in my effort
(d) Happiness is consisted in him

(e) Happiness consists in the family

B ) ECTR -} o
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66. Find out the correct sentence with correct form of verb. [Ans : b]

If I were you, I (not do) this.
(a) If I were you, 1 will not do this
(b) If I were you, I would not do this
(c) If I were you, I shall not do this
(d) If I were you, I will not have done this
(e) If I were you, I might not do this
67. Choose the correct of the following incorrect sentence. [Ans : c]
He knows to swim.
(a) He know to swimming
(b) He know how to swimming
(c) He knows how to swim
(d) He knows to swimming
(e) He knows for swim
68. Select the correct change of voice of the following sentence. [Ans : d]
I know how he did it.
(a) I know how he had done it
(b) I know how it was done by him
(c) It is known by me how he had done it

(d) It 1s known to me how it was done by him
(e) It 1s known by me how it was done by him
69. Choose the correct indirect form of the following direct form of speech. [Ans : a]
He said to me, "I was running behind you"
(a) He told me that he had been running behind me
(b) He said that he was running behind me
(c) He said that he was running behind you

(d) He said to me that he was running behind me
(e) He told me that he was running behind me
70. Read the following passage carefully and then chose the right word to complete the sentence
that follows:
Rockets are very expensive as it can be used only once. Applied scientists have therefore
developed a reusable space craft called a space shuttle which takes off like a rocket; however,
does not get destroyed as it returns to earth. It can also be used to lunch satellites into space,
retrieve them from space if any repairing is required and allow around 8 scientists to carryout

experiments in space. The space shuttle does not get— " [Ans : c]
(a) flattened | (b) enlarged
(¢) ruined (d) developed

(e) constructed
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